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|. Multiple Choice Questions.

1. In which direction of India is the Himalayas located? (
(a) East (b) West (c) North (d) South

2. Where is the Bay of Bengal? (
(a) In the east direction of India (b) In the West direction of India
(c) In the north direction of India (d) In the South direction of India

3. India is located in the (
(a) northern hemisphere (b) Southern hemisphere
(c) both and : (a) and (b) (d) none of these

4. Which country shares land boundaries with 7 countries? (
(a) China (b) Australia (c) India (d) Africa

5. Where does the Great Indian desert lie? (
(a) In the eastern part of India (b) In the western part of India
(c) In the northern part of India (d) In the southern part of India

6. What lies to the south of northern plains of India? (
(a) Great Indian desert (b) Peninsular plateau
(c) Vindhyas (d) Western Ghats

7. Where do the rivers Mahanadi, Godavari, Krishna and Kaveri drain? (
(a) Western Ghats (b) Lakshadweep
(c) Bay of Bengal (d) None of these

8. The Indian island in the Arabian sea is known as (
(a) Andaman and Nicobar Island (b) Maldives
(c) Lakshadweep (d) None of these

9. How many Union Territories are there in India? (

()4 (b) 6 (c)7 (d)8
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Which is the National Capital of India?
(a) Mumbai (b) Kolkata (c) Chennai
In which state of India is the village Kalpattu located?
(a) Tamil Nadu (b) Mumbai (c) Delhi
By which land features is the village surrounded?
(a) By low hills (b) By high mountains
(c) By a group of rivers (d) By streams

Giving water to the crops is known as

(a) weeding (b) harvesting (c) planting
How much did Ramalingam pay to his workers?

(a) 100 rupees per day (b) 50 rupees per day
(c) 40 rupees per day (d) 30 rupees per day
Which animal’s milk does Ramalingam sell in local milk cooperative?

(a) Of hybrid — Cow (b) Of hybrid — Goat

(c) Of hybrid — Camel (d) Of hybrid — Buffalo
If the farmer fails in repayment of loan he commits

(a) suicide (b) murder (c) theft
What does Ramalingam do with the rice produce in his rice mills?

(a) He distributes it to the poor

(c) He sells it to government sector
What is basic occupation of 80% of Indians?

(a) Agriculture (b) Business (c) Trading
Who was Thulasi?

(a) Agricultural labour (b) Baildar (c) Contractor

What is the main occupation of people living in rural areas?

(a) Working on farms (b) Working in banks

(c) Working at shops (d) None of these

(d) He sells it to villagers
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(d) all of these

(

(b) He sells it to traders in nearby towns
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(d) Garments

(

(d) None of these
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